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@) « )+4C02( )+3H20(€} AH,

AH, -AH) +2AH -AH_ - 471 +2(- 1165)-(~1368.19)

AH, --1432.81 klmol ™
55°C aie (1) deliall il lasa -
T

AH; = AH gq + [ AC,dT

Ty

AC = ZCPE’mduitsJ 4 ZCP{Rﬂcﬁﬁ.}
AC, =(3C,(H,0,,)) +4C,(CO, )+ Cy (C,H,0H,,)))

—(3(:1, (ozlg})+cp(cﬁﬂuoﬁm))

AC, = (3%(75,29) + 4 (37,45) +(111,46))
—~(3x(29,36) + (14,184 +0,693.T))

AC, = (487.13)— (102,264 +0,693.T)

AC, =384.866—0,693.T

328
AH,; =—1432.81+ [ (384.866-0.693.T)dT

208

e 0,693 Tz

AH,,, =-1432, 81+(384 866.T|..: —

x107
208

~0.3465.T°[ )><10‘3

328

AH,,, =-1432, 81+[384 866.T[ -

AH, = —1432._81+(384, 866 (30)—0.3465x (328" —29‘82))><10‘3
AH,,, =—1427,77 kJ.mol™
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‘ﬂHz :Z f5‘I_If (Produits) _Z ﬂ’I_If (Produits)
ﬂH; = ( ZﬂH;- (H, O{, ) )"‘251—1;' (C3H403( r}))' (fﬁH;‘ (CﬁHIEOG(sj ))

o ]_ o o o
AH,(C,H,0,, FE(,ﬁHE- 2AH, (H,0,,)+AH, (CH,,04, ))

AH,(C,H,0,, );%{- 471-2x(-286)+(-1273))

AH, (C;H,0;,, )= - 586 kJ.mol”
D eld g sl Gaes (3 AH oo gy Ml IS8 il Gl 4

f (€H0y)) H,C—C—CF 0
- 3

3
3C +2H, +50

2@ [ o
5 P+
. (=] o 3 L] -]
3 &Hsuh{C} 2AH, (H-H) Emd(0=0) —;ﬁH“P
o]
4
HyC—C—C(
AH _
3C, +4H , +30 _ I g o-H
° o . 3
Aprymvique () =3AH (sub) ©) +2AH, (H-H) +5AHd (0=0) +AH_AH\'ap
AH=—-3AHy gy —28Hy () —28Hy (c_0) ~AHy (c_0) ~AHq (o-m)
ﬁH:—3x413—2x348—23Hd (C=0) —351—-463

AH =-2749-2AH (C=0)

o o 3 o -]

f pyruvique (i) vap

o ]_ ) o o 3 o o
AHy o) :E[sAH(wb) (C)+2AH; gu.sy +5 AHg o o)~ 2749~ AH,,, —AHg, m]

: 1
AHyc—0) = E[

)= 777.3 kJ.mol™

3
3><?17+2><436+Ex498—2?49—52,4—(—586)}

AHjc—0
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